1 B H FE& (Y afAR =Y TC) m—

2 BYE —

S HBRHE BE(C 7V — )

— R EFVI VA

4 [ iF B E (uhatr-tratc) —

6 A & (FBIH LT RIRRE) —

6 M FHECI X /2 TS)

i BYE —

8 fiH FE—BF( b TC )—

9 B fh # M (FEMILKE)—

10 BYE —_—

11 BYE e

8-3

8|4

' 17

b3

3

12 B FH Z A (KA Y E AT C) m—t

13 L% %= 4/t ( Ryu's clab )—

14 Z AR $HE] (BN () m—

15 BYE a—

16 K EH (L A K FE) w—

— 18

—= 19

COf—

[ ——-:1 20

8
-221

(RET)

— 22

— 23

Ce— 24

— 25

— 26

— 27

— 29

o0

— 30

— 31

—_— 32

& (BEETT-2 )

BYE

FE BE( 7 U — )
FEE tLRZE (LAY A XTC)

M R RG34 AR -V TC)

Z B %( 7 U = )
BYE
HpE BE#( Yy TC )

& A (FEMILKRE)

BYE

BYE

i mE&(\» 05z TG)

@wAx —#(dLWETTS)

B BEMC 7 U — )
BYE
+F FEFEC 7 U — )



33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

64

REE KA (TR LK) =—

BYE —

Tl B o5z Te—

&7 KA (IUATALRTC)

ART B Z (BHETT-AG ) m—

BYE —

BYE —

e BR(Mm B A W )—

o]

4-8

— 49 F N B&H (L O XK %)

oo

— 50 BYE

= 51 BF FF BEH (VY af XK=V TC)

32!

2]

— R EH R¥E( 7 U — )

— 53 E% BE] IE m (kfﬂi;é)?'ﬂ‘f—ﬂ/

— 54 W A EF (YT —r77)

— 55 BYE

i Z(W A X %¥)
==

B
“H OEE(FEH k) — 0

BYE —

: s (RFNAVY YR -
H O LS TC) —

AE RAEC KA

)=

N o

Eil BlE(L A E A )—

BYE e

wmAk BE( JJ B )—

BHE &M AR—YTCO)

HA Ff1% (Team PAO)

COf o

— 56 F # # S (TEHI K%)

— 57 LI FE (I g K %)

—— 58 BYE

— 59 BYE

— 60 1A H TR (BEVIFTAREF)

=6l H¥ HJ5(H b v TC )

62 FH B 7 U — )

— 63 BYE

b 64 H & F1 % (Team PAO)



— B FHT WA

| B fZ (Team PAO) __ TN OERC LR KE )
o gl T NS k@ EH( LA KE )
2 BYE — L 18 BYE
8
mH AR (ECIIAMF) 2 -
3 MR BA (B rsLmF) ] 1 S eSiE
s BR (A bvTC) |8 L oo Bk —#t( d& W TS
fEl E—BR ( & kv TC ) ro B B ( 4t JE TSS)
8 2
5 I B (ASKERNL) 4 8 g A FM
B &5 (38 &ESE) 4 0 EEH FH—BR
6)#114 A 'Y — ) 8 8‘_223%j5 X2 (lBaETARTC)
BH B (Y XBF) 7 AR —E(LBRYAXTC)
9
7 BYE —_ — 23 BYE
g MHE R#(w by TC)_|NS 8-3 Lo, HE B—(5%<wTC)
B R & 7 U — ) fr H E(% < W TC)
8 8
9 B W BE(7A77TC) 4 6 25‘653 K (WAL 2T0)
® o O K( TAT7FTC ) TFH &M/ Lo XKFE )
10 BYE o 26 BYE
8 8
11 BYE — |® Y —21  BYE
o FE BOR (W B A M) [ gg WA i —( TV77TC )
FE BE( 7 U — ) 8 A ¥ERES ( 747 7 TC )
6
13 ﬁ*j‘ Iﬂ‘gﬁ(“/ea’fxmou\‘/)_ — 99 J|uﬁﬁ {aﬁ(%*ﬂ%%" ’fZ")
m ok B JJB ) 8 NS A I (HmREEBEA L)
14Lu2|: 8 (FRmisziiEwbD | 5 I_BOBiEEl % g—( 7 U - )
WOE #S W (FWiiRme 8 8 FH BB 7 U — )
4 6
15 BYE — — 31 BYE
6 B M E(B ) | gy AT Bz (BHIrT=xifa)
A Zh (&R ) EH A BEf1 (BHETFZAHS)



—

w

A5 LA By

mE &H( FEEH )— — 5
BYE — | 8i3 . 8L ¢
1t R j:EB(/Sa<b\TC)—-31 2] [
B i ( SUMCO )we O L g

55k A Vv v
BH BB B — b ) =— — 9
BYE — i BEs o —10
B Om A (MY — ‘ 8l — 1
S B E e BETC) e O L

8 2

EWH BEX( IX)F=R )— 1 8 — 13
BYE — |, ,| 1
BYE — | 8 8 15
HE &= (94 h In’—)— 16

60 LA v va
EI BV (BRIFEREN () e Y
BYE — s o 10
B EH( BEITT )= ! 1 —u
A B— (Avyvanga)— 0 —

9 8

R M (BB BT ) — 7 6 13
BYE a—l 3 5 14
BYE — 18 8 15
AR fHE (M K #H) e b 16

65 LA BV VA

0

8 gl — °

Bo& A msETe )— d
— 6

8

Bl HR( EEITT )

R A )|

AL =

58 ( = )

Z—(5 < W TC)
BYE

FHE EX(I4-7x/5 TC)

AN B B (Y hTTEK)

BYE

BYE

B E

F AN (FUFANTHE)

F B OEE (TAVEIAT-)
BYE

BYE

B A 2 ( BB TC )

)il % & ( UBET2TC )
BYE
BYE

B K ( BEZTT )

M BIR (TAVE )nT—)
BYE

BYE

KH FiH(E H BT TC)

H 51

(W o9 %z TG)

HAE(FRA<wI )

EH TW(OJFTG)



NE {5z

3 K
0-2

3

55 LL_EA 7 VA

4-8

6-8

\\\\\\ 8-4 | 8-6 | 2-0

)

SUMCO
Ja—v yn"y)
4vay7°84%)

(& < wW TC)

(TANVP YN =)

(
(
Sh (TAMB YN =)

=
=
==
=

=

& —
7
B

B B B (
7K
H
¥ 1E

45 LL 2T VA
=5

N

it B

Hh

5k

1
3
1

TERONN o1 =
T = WW
I/\/ o= ~
NN ~ - DR
2R s &
R B8R =N R uy
W< < 1| W
o # m #
o oz I = g
K o EH ®E
O b~ o0 o ~H
_E &N — o
<t flco =
N 7 I B
@ |© ~ _% - || o
N
IL o~ © ™ o
42
[ap] [+2] o}
© [+ o] [+o]
=l N & S
[{«] [o 0]
aVarIr:
X e J< o, gee
%ﬁ | B =y WW)NWW
7% , K T HIE M EE
HEY Vi PP sl e
L { 10 Do e iR
o W . T # . - Ma %)
H _ B 2 23 I, %
mog i ¥ . 7 ofE T
SRS ot dx % B 8 K Rl B #E
[a\] o <t —t [a\] — [aN] o




—

'

—fRE VT VA

By H B (Ten7 o AT — b ) em— -8 p— 5 Z2 )l BN (LA K FE)
8
3
BYE —_ ——— 6 M K 2% ( Winning Shot)
9(1) 2
8 8
B M R 7 (HES(ESUETC) — 7 A E (TEAFHIZKE)
8 5
1 8
o EE(5 < WVWTC) — 8 AN DD (% W TC)
—REF5 T WA
W H#H FETenT=AF—1) _ c Tk BT ( FHEE )
MmHE Mr(FEHT)—) X H HF (FLronvx)
4-8 NS
] L M & 3£ (Winning Shot)
BYE ) Yoy % #2 (Winning Shot)
8 3
3 8 o . .
PR OB 7 U — ) 7 AR N SR
W OEE(5 << WTC) WA ¥ E( MSOG )
2 6
Cl 8
BET (oK% ) 87KZKEEE%( KON )
Z) EBAEm( o XK%E ) g4 OEF( KON )



